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48hr Forecast model Analysis increments

Regional 15 km Global T108  240x120 ~185 km

LAM 10 km

x 12

LAM 35 km
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Global T571
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 ~ 35 km         



Target Grid for Regional 48H Forecast at 10 km using GEM_LAM

Higher resolution nested 

grids on demand  (ex: 2km)
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LAM4D-Var_C: Continental

LAM4D-Var_L :Local



- Construction of Pb from  using Local Balance Equation:

[ ] bsbb P= Vp,T

 
x ( , b , Tb ,0, psb )

Balanced

+ (0, u , Tu , q, psu )

Unbalanced

-  Diabatic Balance to control Vertical motion

- Regression matrix to derive Tb and psb:
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1st Order Baer-Tribbia Balanced State
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Diabatic TL-INMI Balance
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SW-INMI   (Temperton, MWR-1988)
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Baroclinic-INMI   (Temperton, MWR-1988)
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5) Project back to gridpoint space
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1 TT-Obs at 500 hPa:  500 hPa WW  (m/s)    No TL-Balance
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1 TT-Obs at 500 hPa: 500 hPa WW  (m/s)  With TL-Balance
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2nd March, 2007 Storm, Montreal



6/13/07

[ (NL2-NL1) - TL ] Global HU T=6hr (LOOP1)
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[ (NL2-NL1) - TL ] Global HU T=6hr (LOOP2)



700 hPa  Omega Anal. Incr. No TL-Balance  (10-1 Pa.s-1)

At t= 0, All Data, 2nd. Loop



700 hPa  Omega-Anal. Incr. No TL-Balance  (10-1 Pa.s-1)

At t+2h, All Data, 2nd. Loop



700 hPa  Omega Anal. Incr. With TL-Balance, (10-1 Pas-1)

At t = 0, All Data, 2nd. Loop



700 hPa  Omega Anal. Incr. With TL-Balance  (10-1 Pa.s-1)

At t = 2h, All Data, 2nd. Loop



700 hPa  WW-Anal. With/W-o TL-Balance  (10-1 Pa.s-1)

At t = 6h, All Data, 2nd. Loop



700 hPa  TT-Anal. Incr. With/W-o TL-Balance (deg)

At t = 0, All Data, 2nd. Loop
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